1 FR27EEFEHITRR (ER284E3R31BHE)
(1) —me=st
(B EAM)
% A % H
B B FEBRLE A|UAFEEE B)| B)/(A) (%) |HERLLE (%) ® = FEIRLE (O)|XZHFEE (D)| (D)/(C) (%) | #ERLEE (%)
1 ™ 5] 5,593 5,588 99.9 298 || 1 & = & 244 241 98.8 1.2
2 i H E 5 174 127 73.0 07| 2 #& % & 3,522 2,459 69.8 12.0
3 M F A X M &£ 8 7 87.5 01| 3 R & & 5,780 5,070 87.7 24.7
4 B OB B X F £ 28 27 96.4 01| 4 #& = & 2,756 2,435 88.4 118
5 HBAFREMBIXRMGE 13 26 200.0 01|[5 BEM K E X & 1,850 1,687 91.2 8.2
6 hHFEHE/BRIMTE 728 786 108.0 4211 6 & T & 437 380 87.0 1.9
7 LG ARRAE 6 8 1333 00| 7 = /N =y 2,223 1,292 58.1 6.3
8 BEBERSMXfF & 24 34 141.7 02| 8 A 3] 7 1,847 1,755 95.0 8.6
9 M A 4 Ol X F & 19 19 100.0 01| 9 % ] & 4619 3,260 70.6 15.9
o A XK O W 3,921 4,065 103.7 21.7|(10 K & # 1B & 1 0 0.0 0.0
1 RBREXRFANRTE 4 4 100.0 00|11 & E =y 1,493 1,491 99.9 7.3
2a#EesrRVvEHESE 71 80 112.7 04[|12 3% X H £ 434 432 99.5 2.1
BHEAHERUF HH 425 397 93.4 21 (|13 % 3 & 32 0 0.0 0.0
WE E X H £ 3,534 2,261 64.0 12.1
15 & * H & 1,242 334 26.9 1.8
16 Bf P 1 A 57 57 100.0 0.3
17 & Bt & 17 17 100.0 0.1
18 #& A & 2,735 2,085 76.2 11.1
19 #& i & 1,313 1,313 100.0 7.0
20 & IR A 592 549 92.7 2.9
21 & 4734 979 20.7 5.2
m A & & 25,238 18,763 74.3 100.0 m H & F 25,238 20,502 81.2 100.0

(% BUFPEIT)




(2) THDRARSR

(3) Al=Ft

(Bfr-BaBm[) (Bfi-BBA)
# H FHIRLE IRAEEE | R %) 2 & & |FHEZE E|WRAFZZE P(XZLEEE (G) F/E) @ | (G)/E) %)
T RO 2,332 2,329 417 ERERERIRSEE 6,399 5,633 5810 88.0 90.8
2 B EEE M 2,602 2,598 46.5 K B & R 7 5 4 71.4 57.1
S EB ® EM 100 100 1.8 NHETKEFEE 513 421 421 82.1 82.1
T R G 373 375 6.7 BEREHKER 55 53 50 96.4 90.9
5 A & ® 23 24 0.4 TERKRER 3,702 3,471 3,233 93.8 87.3
6 # ™ Ft B 163 162 2.9 BHEmEER 440 427 418 97.0 95.0
a & (1~6) 5,593 5,588 100.0 a &t 11,116 10,010 9,936 90.1 89.4
REmRKEH 1,064 1,039 100.0 x BHFESD)




(4) DELXRE

O FR27EEDRHE (RA)KR o= als) © FR27FEOEERR o= a1s)
% KEEE | LIl | mREE | A E 4% Kk | LB | mwEs |
E OEXE IR O# 964 131 2,438 3,533 E X I & 893 121 2,429 3,443
Wle % 5 0w % 71 16 985 1,072 Wle 2 5 a2 71 16 982 1,069
AN G 0 0 112 2] |4 |2 oAl R & 0 0 112 112
2 &t 1,035 147 3,535 4,717 it (A 964 137 3,523 4,624
E X & H 898 178 3,153 4,229 & E %X & H 873 170 3,095 4,138
B X|e 25 8 8 88 12 68 168 |5t | B |2 £ 4 &8 B 64 10 157 231
Wi A B X 0 0 1,073 1073 || @B B B X 0 0 1,048 1,048
B 986 190 4,294 5,470 - it B) 937 180 4,300 5417
= * E 176 0 19 195 | =
BE-BE#bE 0 0 0 0 LEAMEFIZE (A)—(B) 27 A43 ATT7 AT93
R £ 82 40 0 0 40
& —BRFHESE 6 0 3 9 ~|B E & E 7,535 1,027 7,455 16,017
A= HBE 0 0 52 52 ,—i w B B OE 856 424 720 2,000
F o0 i 0 0 0 of |E g% B OE W X 0 0 0 0
¥ H 222 0 74 296| |4z 5 8,391 1,451 8,175 18,017
%% R E 289 4 47 340 e B £ & & 3,101 474 4,248 7,823
FIEXEEES 148 60 236 444 EIR B & & 210 87 1,031 1,328
Bl |—EEAESS 0 0 0 of |* oB E W 1,567 217 2543 4327
z ) fth 0 0 8 8| |&|x|&E A & 3,082 352 3,014 6,448
H 0 g% 3 52 2 431 321  A2661] 1,909
H 437 64 291 792 g 8,391 1,451 8,175 18,017




© FR27EEOFEPITRRE o= hal)
X% KEEE | Lok | BREE | A

FHEBRE © 1,061 147 3,346 4,554

4z = #HOoE B D 1,035 147 3,535 4,717

* #ITED)/(C) %) 97.5 100.0 105.6 103.6

" FEHRE © 1,049 198 3,653 4,900

i} * X HE&E P 986 190 4,294 5,470

g #ITEF)/(E) %) 94.0 96.0 1175 1116

FEHRHE @ 967 0 74 1,041

& = HOE B OH 222 0 74 296

* ITEMH)/(G) %) 23.0 100.0 28.4

* FEHEE (D 447 67 296 810

fJ * XHFE J) 437 64 291 792

g #ATEU)/D ®) 97.8 95.5 98.3 97.8




